Cviceni 16

1. Integrujte dané funkce:
a) [ xcosxdx,

2. (nestihne se) Integrujte dané funkce:
a) /xcos(Zx) dx,

3. Integrujte dané funkce:

a) / arctg x dx ,

4. Integrujte dané funkce:

a) /cosszinxdx,

d)/ M
——dx,
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g) /v35—6xdx,

i) /12)66_3’“2Jr1 dx,

m) /x(3—2x)9dx,

p) /6x sin(3x2) dx ,

Vysledky
1. a) cosx + xsinx +c¢,

d) (x? —2x +2)e* +¢
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4 2

2. a) +c,
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3. a) xarctgx — +c,
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4. a) gx/sinxsinx +c,

d) Vx> +4+c,
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i) _el™3® 4 c,

(20x + 3)(2x — 3)10
— + C,
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m)

p) —cos(3x?) +c,

b) /(x2 4+ 3)sinx dx,

b) /(2x + l)e_g dx,

b) /lenxdx,

b) /x 2x2 + 7dx,

e)/

h) /4005(2x)dx,

k /—7 d

N BT
| T

W i ex s

1
9 /—(x+2)2 dx,
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b) 2x sin x — x2 COS X — €OS X +c,

b) —3(2x +7)e”3 +c,
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5(2x2 +7)V2x2+7+c¢,

+c,

arctg2 X +c,

e)

h) 2sin2x + ¢,
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B C4(2x + 1)2 +
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n) 3 arctg(2x + 3) + ¢,

c) /(2x + 1)e* dx,

d) /xzexdx.

c) /X2€3x dx .
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c) /ex sin x dx .
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©) [cosz(l —X) dx,
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c) 2x —1)e* +c,
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tg(x — 1) 4+ ¢,
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3— +C7
448 — x2

1
§(2x—5)v2x—5+c,

In3 x +c,
arcsinln x + ¢,
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